=
=
03]
<
x
o
|
=
w
0
T
<
=
(®)

SVUCR/L

Pa3smepsl
0603HaueHve l MnactuHa )))))
Bunt
SVUCR/L1212H11 12 112|100 | 14 | 12| 20
VC**1103 | M2.5*8 T8
SVUCR/L1616H11 16 116 | 100 | 14 | 16| 20
SVUCR/L2020K16 20 120|125 | 18 | 20 | 30
VC**1604 | M3.5*%9 T15
SVUCR/L2525M16 25125]150 | 18 | 25| 35

@

TUMITEC

turning & milling technologies




SVUCR/L

dmin

0603HaqeHe

lnactuHa

BuHt

$16Q-SVUCR/L11 020 |16 11,5180 30 [15|3,2 10° M2.5%6
VC**1103
$20Q-SVUCR/L11 ©925|20| 14 |180| 30 [18|3,7 | 8° M2.5*8
S20R-SVUCR/L16 0929 | 20| 19 |200| 45 [18(85 | 8°
S25R-SVUCR/L16 036 | 25| 20 [200| 47 |23| 7 | 6°
VC**1604 | M3.5*9
$32S-SVUCR/L16 042 | 321225250 | 45 |30(55 | 6°
S40T-SVUCR/L16 050 | 40| 27 |300| 55 [38(6,5| 6°

0603HayeHve

Pa3mepbl

MnactuHa

Std corner
R3(r)

BuhT

@

turning & milling technologies

S16Q-SVUBR/LT1-AV | @22 | 16| 15 |180| 37 |27| 12 | 8 |10° 0 M2.5*6
VB**11
S20R-SVUBR/L11-AV | @31 | 20| 18 {200 | 45 |31| 19 | 8 | &° M2.5*8
S25S-SVUBR/L16-AV | @34 | 25| 23 |250| 47 |37|20,5| 85 | 7°
VB**1604 M3.5%9
S32S-SVUBR/L16-AV | @44 | 32| 30 {250 | 90 47| 28 | 12 | 6°
TUMITEC

TOKAPHbIE OEPXABKU



